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1. The Centroid (Averaye Peint)

The given diagram shows the three medians C (x3,y3)

[AE], [BF] and [CD] intersecting at the point G. ”

G is called the centroid of the triangle. ik f’l'
The medians of a triangle divide each other in the E U{:flwx
ratio2:1. A (ﬂa}ﬁ)é

In the given triangle, g (2 y2)
|AG|:|GE| =2:1: IBG|:|GF| =2:1and 5 .
|CG|:|GD| =2:1.

If A(xy, v1). B(x,, v,) and C(x3, y5) are the coordinates of the
vertices of a triangle, then the coordinates of the centroid, G, are
G=[ftntx Nntyty
3 ’ 3
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2. The circumcentre

The circumcentre of a triangle is the point of intersection

of the mediators (the perpendicular bisectors of
the sides) of a triangle.

The line segment from a vertex of a triangle to the
circumcentre is the radius of the circumcircle.

This is shown here as r. ﬁ‘r AR
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3. The orthocentre

The orthocentre of a triangle is the point of intersection
of the perpendiculars from the vertices to the
opposite sides.

In the given triangle, H is the orthocentre.
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~ Example 1 )

The vertices of a triangle are A(—4,3), B(0, —5) and C(3.4).
Find the coordinates of

(i) the centroid (i1) the orthocentre of the triangle.
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